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General Instructions:
(1) All questions are compulsory.
(11) Write the correct option in objective type questions.

(1if) Marks of each question are indicated against it

1. What is ploidy of perisperm? 1
a) Haploid
b) Diploid
c) Triploid
d) None of these
RO o IERIOTCT T & 2
a) &Flfﬁl?f
b) feaford
C) ﬁ'{'{fﬁlﬁ
d) TTH F BIE el
2. Which hypothalamic hormone is involved in parturition? 1
a) relaxin
b) prolactin
c) oxytocin

d) All of the above

S 1 RO g Ued § =i gidT 87
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a) ﬁﬁ@w
b) Tcifae
C) IR
d) Iugad Tt
3. Which of the following is not a dominant trait in Mendels's
experiments? 1
a) Green pod
b) Green seed
c) Axial flower
d) Round seed
Fofafed # 9 319 91 ded & TN H Te yuTdl faRive 61 87
a) Eﬁtb_vﬁ
b) BRI &l
C) &r&ﬂtrq&:
d) Tt st
4. How many hydrogen bonds are found between adenine and
guanine in a double helix DNA? 1
a) 2
b) 3
c) 5
d) 0
% fggped SIeY § TS 3R a1 & &9 - grggior ey
Y ST 87
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d) 0

5. Which of the following disease’s patient can be easily infected by
Toxoplasma? 1
a) Cancer
b) AIDS
c¢) Malaria

d) Dengue

fFafafad & 3 fog I &1 If aTamicomra ST T Hhiad 8t
bl 27

a) W
b) TgH
C) Hardn
d) S
6. Which of the following is not produced by fermentation? 1
a) Curd
b) Swiss cheese
¢) Dosa
d) Beer

fafaRad & 9 &1 fbUa gRT e el graT g ?
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a) &gl
b) g i
C) ST
d) foaR
7. Which enzyme recognizes a specific palindromic nucleotide
sequence? 1
a) Exonuclease
b) Chitinase
¢) Cellulase

d) None of these

DI 1 TozH e iRy Ui gfeadiergs SiwH & Ugamdl
g7

a) RIS

b) BTfc

c) A

d) 379 ¥ P eI

8. Which of the following term is denoted by 'N'? 1

a) Natality

b) Deaths

c) Population density
d) None of these

frafafed & Q feg ug &1 'N' gRT <ifar Srar 82
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a) 9HKX
b) HY
C) Fﬂ:@‘aﬂc—q’
d) 9 A P I8!
9. Which ecological pyramid is always upright? 1
a) Energy
b) Biomass
c¢) Number

d) All of the above

B 91 uIRfRUfae fiRfie Tl s a giarg »
a) ol

b) Sd HTAT

¢) =T

d) STed it

10. What are the products of second meiotic division in oogonium?

1

ST (o) & gER e fauTeH & Idre | g ?

11. Which enzyme is responsible for transcription of hnRNA? 1
P T TSTZH hnRNA & 3 & g foiieR g2

12. Which part of Cannabis sativa is used to obtain natural

cannabinoids? 1
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HHT TeTRAT BT DI T G TP prifarlgs U dRA & Ay
ST fHaT SMa1 § 2

13. Absence of blue colour in recombinant colonies is due to insertional

inactivation of : 1
THanTS dam-al # i I @ st & fAash
fAfSpaar & HRUrg|

14. Radioactive __was used by Taylor and colleagues in 1958
to prove semiconservative replication of DNA in plants. 1
g (fafevur afsy) ®T IWNT TR 3R ITd

TRl gRT 1958 T Uiel & SIT-Y 3t o1l WRefy Ul id g o
o foie oo mam a1l

15. Exine can withstand high _ and strong .

SR 3 _ 3R EES _ T FHAT BR obell

gl
16. The question below consists of two statements: Assertion (A) and
Reason (R), answer the question by selecting the appropriate option

given below. 1
Assertion (A): All the nuclei in embryo sac are haploid.

Reason (R): 8 nuclei of embryo sac are formed after three successive

mitotic divisions.
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a) Both A and R are true, and R is the correct explanation of A.
b) Both A and R are true, and R is not the correct explanation of A.
c) Ais true but R is false.

d) A s false but R is true.

FafRad Uy o 1 & : SifUSHY (A) IR SR (R), T4 & - i
U YA fddhed &1 I8+ dhRd gU IR et

FYT (A): YOrH™ H Joft Heh 31O 8 & |
BRI (R): YUY & 8 b ol it THGHT FaHTSH & o1 T 3|

a) AGRGHI T g AUTR, A B! gl RG] g |
b) AT R G I & dUTR, A D ol ARIAT T8l g
¢) AT g IR 3T g

d) A 3T 8 IR AT ¢
17. The question below consists of two statements: Assertion (A) and
Reason (R), answer the question by selecting the appropriate option

given below. 1

Assertion (A): BAC and YAC were used as vectors in human genome

project.
Reason (R): BAC and YAC are universal vectors.

a) Both A and R are true, and R is the correct explanation of A.
b) Both A and R are true, and R is not the correct explanation of A.

c) Ais true but R is false.

Biology Code: A
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d) A is false but R is true.

frafalRad uy & < HYF §: IS (A) 3R SR (R), U4 & -9 &
T4 IUGad fddhed &1 999 Hd g IR GIfod|

UHYT (A): S T 3R 918 T I BT SUANT HHd Si-1H TRaeHT &
IdIeh! & =0 H fosar T 7 |

PHRUT (R): ST 3R ISTIH FraHIHH 8D § |

a) AGRGHI T g AUTR, A B! gl RG] g |
b) Ad R GHI T & dUT R, A P! et AT el g
) AYd § IR SA ¢

d) A 3T 8 WJRIAI g
18. The question below consists of two statements: Assertion (A) and
Reason (R), answer the question by selecting the appropriate option

given below. 1

Assertion (A): An ideal vector should have many recognition sites for

one enzyme.

Reason (R): Fragments of DNA are easily separated by gel

electrophoresis.

a) Both A and R are true, and R is the correct explanation of A.
b) Both A and R are true, and R is not the correct explanation of A.
c) Ais true but R is false.

d) A is false but R is true.
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FafRad Uy o 1 & : SifUSHY (A) 3R SR (R), T4 & - i
U YA fddhed &1 I+ dHid gU IR et

B YT (A): T 3TC YaTgdh H U UogH & AT s UgaH RId
REEIRY

HRUT (R): ST & THS oA dYABURITAT GRT AT I T &l
IcES

a) AGRTHI T g dUTR, A B! T8I IRITT 5|
b) AT R G I & dUTR, A D ot ARIAT T8l g
) AT g IR 3T g

d) A 3T 8 WJRIAI g
19. Diagrammatically show scutellum, coleoptile, epiblast and

coleorhiza in LS. of an embryo. 2

JRTT FY Y Uh YUT o Hdd HIc T Tpead, TigR aid , HfUh RSB
T4 HelipR Al faarsu|

Or
SYdl
Name two fresh water plants which are pollinated by water. Write

two features of their pollen grains. 2

A gRT WA 89 ard &l a gt & aiel & 9 fafku) 39
RATHUN & & d&f0r fakau |

20. Write salient features of human genome regarding size of genome,

largest gene, chromosomes with most and fewest genes. 2
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S & PR, Ja4 I ofF, I8 f¥F 3R Ja¥ HH o7 aa
TOREE & IR W Aa S @ o faRivang fafau)

21. Write one example of each, homology and analogy in plants. 2

Qi H FASTAAT d euReud], Td® &1 Ueh-Ush 3aer0l fafau|

22. Name two yeasts that are used for commercial production. 2
D IA1G b T SUINT fobT T a1l &l e o1 1 g

23. Name a method to detect very low concentration of a bacterium

or virus? How it works to detect them? 2
SHary] a1 faSTo] &1 Sgd dH BT BT Udl A D1 [ &1 M Jdrse?
g I7ThT Ud] T P [T Y HTH HRAT g ?

Or
S{Yd[
What is ELISA? Name its principle. 2
TSl 341 87 $8eb i 1 17 Jargy|

24. What are somaclones? How they differ from somatic hybrids? 2
T 1 87 d IS YRl o AT § ?

25. Write the interspecific interaction observed between a) sea
anemone and clown fish, b) Cuscuta growing on hedge plants. 2
b &1 8! oM drdll SidR-STdig RN fobar fRaT a) T
T 3R a3 HSe, b) 918 UTeUl UR ST aTd FHgreT (3HRe) |

Or
S{YdT
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What is meaning of K and r in the equation C;—IZ =rN (ﬂ)’? 2

Hﬁmd—”—ﬂv(%)ﬁmﬁvrmw&rzf%?

dt

26. Write a relation between GPP, NPP and R. Define NPP and GPP. 3
Sff. Ot O, (GPP), T. Tt Ul (NPP) T 3R (R) & o Jeiy forfau| @,
1. . (NPP) Td St OO, (GPP) ST GRHTINT Y|

27. Name three examples of each, a) /n-situ conservation and b) ex-situ
conservation. 3
TP & i IaTexUN & AT fAIRAT, &) TWRIM (37-Fg) TRE 3R b)
SRR (FHT-H)g) TR&fU |

28. Suggest suitable microbe as biofertiliser for following conditions:
frafafea fRufadl & fau B9 IRe & 0 H Iugad Y&A Sitd &1 g1d
d:

a) To enrich nitrogen content in a field of legume crops. 1

BalGR Bodl & Jd H ASSIoH &1 G131 &l 9 6 & (AU

b) To enrich nitrogen in paddy fields. 1
T & Wl H AT Dl GG D o fau|

c) For tolerance to salinity in fields. 1

Wl T Tq0rdT & Ui gl & fau|

Or
SHYdl
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Name the microbes capable of anaerobic digestion of cellulosic
material. What are gaseous products of this anaerobic digestion.
Write two uses of these gaseous products. 3
JegaiforT uerdl & Sargdia graq # e gersial & A fafau | 39
3fargdi U & TRfig Iare F g1 39 Y Idel & & IuanT
ferfu

29. How different impacts are produced by natural selection on traits
in a population? 3
Siia T (@) H @& R Ui aruT gRT fafid qTe Y I
gldg?

30. What are constituent structural genes of /ac operon? Write product

coded by each gene. 3
% TS (IRM) & geh ITTIHD S T 8?2 D ol gR]

Fedfad IdTe falRau|

Or
314l
Draw a well labelled diagram of replication fork in DNA replication.
3
SIeTL v & TR RwRa @1 U Arwihd R S |
31. Read the passage given below and answer the following questions:

2 feu U ey 1 ud iR fRufafed Ui & I S

14
Biology Code: A



BSEH Model Paper Class: XlI 2025-26

Dr. RK. Gupta and his wife Dr. S.K. Gupta run a maternity hospital in

a city. Recently, they added IVF facility in it. They provide facilities to

needy couples to overcome infertility.

ST, 3R, &. T[T 3R D! Tell ST, TH. &. Tl R H T Sgdet

IAId 1 BT o1 H, S5 U SHISdIut JfauT Siell 4 Sexada
dufadt &1 Sigu= Pl g B & AT JfIUTE Ye™ & &

i)

ii)

Name a technique that can be used to help a couple if male

partner has low sperm counts. 1

Uh Ul dob-ileh 1 M Jd13U oyt ST fobt §ilg &1 Hag
FR & oY T ST 9T 3 afe 7oy it o gehiupstt ot T
BHE

Write two limitations of IVF programs. 2
TS AH HRIHH! B &l HiHdl o |
Or
3{Yd1
What are ICSI and 1UI? 2
31T T T TS (ICSI) 3R 31T G 37 (V1) T ?

Which technique is used to transfer ovum from a donor to a

female that cannot produce one? 1

fba qa-ile &1 IYANT fSd (IS &1 qrar ¥ 39 fgen 4
RIFTART A & AT fovam SITar € S 3fSTY] 61 IdTe ol B
IHhat § ?

32. Read the passage given below and answer the following questions:

Biology

15
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2 faT 7T T B UG SR Fafafed usl & IWw ¢

A person visits a physician and informs about symptoms like high

fever, constipation, loss of appetite and headache. The physician

suggests a test for confirmation and prescribes medicines after test.

T JAfad T i & U Ol § 3R ool §QR, oo, Y@ = T
3R fRAReEe oY A& & 9R H Jfod ol & | Fafeeas® giy & fog te
TRIEI0T BT Td Gl § IR TIE01 & §1g garstt &l i Hear g

i)

ii)

iv)

Biology

Which test would have been suggested by the physician to

confirm the disease? 1

SR @ gfY o forg Fiforcdes RT & 9 T URTefor =i a1 g1

?

What type of infectious disease is suffered by the patient?
1

T B i TR BT HehTHD AT 3 ?
Name the pathogen of this disease. 1
S T & IS BT M FA13T|
Or

SYdl
Are antibiotics effective in treatment of this disease? 1
w1 gfuifde (ICIarfeR) 39 SHRI & SUDR H UHTE! 57
What would have been possible disease if symptoms were

fever, chills, cough and bluish nails?

16
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§OR, 38 T, Wi SR el TR & A&f01 B UR FHIfad sSR! &
gidil?

33. a) Diagrammatically show three types of cells in seminiferous
tubules. 3
Q[ehod AIABISN B diF UHR B HIRBIY RGN U ¥ @ |
b) Which of these cells undergoes meiotic division? 1
T A D O HIRBY HREHTHSH ¥ oRdT § ?
¢) Which cells produce androgens? 1
DI I PIRABIT Yol (TUSIOH) BT SETGT BT 8 ?

Or

SYdl
How many types of accessory glands are in human male
reproductive system? Write their names and number. Which

chemicals constitute their secretion? 5

Aa Gy TS oFf H T8 3t & fahas UeR 82 3% A 3R
T fafau| & o XA 3% |1d BT HHI0 $Rd § ?

34. Draw a well labelled diagram of pBR322. How it possesses all the

essential features of a good vector? 5

pBR322 &1 Ueh AHifhd 3RW §-1ZY| b TN Uh 3wy Hdgdh Dl
Tt sa=ae faRIwaTg &4 gicht g7

Or

HYdl

17
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Draw a well labelled diagram of simple stirred tank bioreactor.

Mention the importance of any of its four components. 5

YR fdiie gl SRIRTGER BT U AHifhd 3R S1SU| 3D

frgl IR Ucdh o HgwW™ B IcRg Hifolg |

35. What is name of the condition in which gain or loss of a
chromosome occurs? Give three examples of such situations in

humans. Write two distinct features of each. 5

39 fufa &1 7 o1 § FSw e 7RG &1 ary a1 g1 gt 32 A
T U9 fRUfqdl o i 38R0l ST | U ol g 3feT-3{ei faRivdmg
ferd |

Or

31

T. H. Morgan conducted several dihybrid crosses in fruit fly. His F2

ratios deviated from Mendel’s results.

& 9. 4 A d Hod! H B8 [gu bR 1Y [hU| 37PT F, 3ad Had
& OO & fafad gt |

a) Which term is used to explain deviated results? 1
foafcra ufomdt o1 Re = & foT o5 RTeg &1 U foba Sira 87
b) What is scientific name of the fruit fly? 1

el HIRG] BT AT A1 R ?

18
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c) Write three reasons why fruit fly is extremely used in genetic studies?
3
TIARIE gl § B HRd! &1 S(fte UM F1 fohdT il g,
9% i SR AU

19
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